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R()) standard reflection
W Wl Ostwaldcolour: yellow Y, A,:mfgﬁz:;'o‘%é);=s7gnms
z z ® 1,0
Ny \l{ Nea, 0,754 0. 3

0,

R(A) standard reflection 5
Ostwaldcolour: green G,:1=470 A,=570 A4=520
triangle lightness ~ T*7up 0,2

0,0

DEY

R()) standard reflection

optimal colour: white W, A:=400 ,A;=700 A¢=—
triangle lightness ~ T*Tug

standard reflection
Ostwaldcolour: cyan C,A;=400 A,=570 A4=495
R(\) triangle lightness  T*up

1,004

R(A) standard reflection
Ostwaldcolour: blue B, A1=400 A=495 \¢=470
triangle lightness  T*1ug

R(A) standard reflection
Ostwaldcolour: red R, A1=570 A2=700 \¢=595
triangle lightness  T*Tup

1,001

R()) standard reflection

Ostwaldcolour: magenta M, ;=570 A;=470 ,A4=520¢c
triangle lightness ~ Ttup
1,004
0,75¢ C.
0,50

0,25

0,00

R(A) standard reflection
Ostwaldcolour: yellow Y, \=495 A;=700 A¢=570
triangle lightness  T*1up

R()) standard reflection
Ostwaldcolour: green G,A;=470 1;=570 A¢=520
triangle lightness  T*Tup

1,001

100 500 y'600 Y
wavelengthA /nm

R(A) standard reflection
optimal colour: white W, A1=400 ,A;=700 A=
triangle lightness ~ T*1us

1,0

R(A) standard reflection
Ostwaldcolour: cyan C,A1=400 A;=570 As=495
triangle lightness ~ T*Tus

R(A) standard reflection
Ostwaldcolour: blue B, A;=400 =495 A\¢=470
triangle lightness  T*Tug

00 500
wavelengthA /nm
DEVZ0-0n
with N reflection
standard reflection
5<=R(\)<=0,720

T*rys=40log[R:(A)]/log5

Rr(A) = R(A)/0,18 relative reflection
Ostwaldcolour: green G,:1=470 A,=570 \4=520
triangle lightness  T*Tup

(7 (A)/0,18 relative reflection
Ostwaldcolour: cyan C,A;=400 A,=570 ,A4=495
Rr(\) triangle lightness

R()) standard reflection
Ostwaldcolour: red R, A1=570 ,A2=700 A¢=595
triangle lightness

1,001

Rr(A) =R(A)/0,18 relative reflection
Ostwaldcolour: green G,A;=470 A;=570 A¢=520
Rr(\) triangle lightness  T*Tup

6,001

3,001

A
R(A) standard reflection

Ostwaldcolour: magenta M,A1=570 ,A,=470 A
ngle lightness T+

1,001

(i R(A)/0,18 relative reflection
Ostwaldcolour: cyan C,A1=400 A;=570 As=495
Rr(A) triangle lightness

0 M™500
wavelengthA /nm
DEVZI-6A

without N reflection

standard reflection
0,045<=R(\)<=0,720

T*rug=40log[R;(A)]/log5

DEY21-7N

Rr(A) = R(A)/0,18 relative reflection
Ostwaldcolour: yellow Y, ;=495 ;=700 Ag=570
triangle lightness ~ T*1ug
6,00}
3,00
1,004

13

(A) = R(\)/0,18 relative reflection
optimal colour: white W, A:=400 15=700 A¢=—
Re(A) triangle lightness

6,00

00 500
wavelengthA /nm
A

Rr(M) = R(A)/0,18 relative reflection
Ostwaldcolour: blue B, A1=400 =495 \¢=470

triangle lightness T 7up [§

N,

Rr(A) = R(A)/0,18 relative reflection
Ostwaldcolour: red R, A1=570 A2=700 \¢=595
Rr(A) triangle lightness
6,00

3,001

13
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00 500
wavelengthA /nm
DEVZZ-1A
Rr(A) =R(A)/0,18 relative reflection
Ostwaldcolour: magenta M, ;=570 A;=470 ,A4=520¢c
triangle lightness  T*tug

6,001

3,001

Rr(M) = R(A)/0,18 relative reflection
Ostwaldcolour: yellow Y, \=495 A,=700 A¢=570
triangle lightness  T*1up

00 500
wavelengthA /nm
A

Rr(A) = R(A)/0,18 relative reflection

optimal colour: white W, A;=400 ,A;=700 A=
triangle lightness  T*1us
6,00}

3,001

13

1/6

0E!
Rr(A) = R(A)/0,18 relative reflection
Ostwaldcolour: blue B, A;=400 ;=495 \¢=470
triangle lightness

TUB-test chart DEY2; Wavelength ranges ddétwaldcolours, +/- e&a signals
ReflectionsR(A), R(A)=R(A)/0,18, andRs(A)=log[R(A)], triangle lightnes3*TyB, con
] M Y [0) L

standard reflection
0,045<=R(\)<=0,720
relative reflection
(M)=R(»)/0,18
p=40log[R;(A)]/log5

Rr(A) =R(A)/0,18 relative reflection
Ostwaldcolour: red R, A1=570 ,A2=700 A¢=595
Rr(\) triangle lightness

6,00

3,001

1/3

1/6 b=

0 500 600
wavelengthA /nm

Rr(A) = R(A)/0,18 relative reflection
Ostwaldcolour: magenta M,A1=570 ,A,=470 ,
Rr(A) triangle lightness
6,00
3,001
1,001

13

1/6

standard reflection
0,045<=R(\)<=0,720
relative reflection
R:(\)=R(A)/0,18
T*rug=40l0g[R:(A)]/log5
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